Anatomy of a Labour Landslide

1. Use statistical data to describe the Labour landslide. Why do the vote numbers not match the percentages?
2. What was Black Wednesday and what was its impact on the Conservatives?
3. What were the three facets of John Major’s triple strategy?
4. Use evidence to describe the media’s role in the landslide.
5. a. what is net volatility?
b. how might we explain the volatile nature of this race?
c. who switched?
6. Analyze the effects of regional swings on BOTH parties.
7. What does Pippa Norris mean by the closure of the ideological gap? What impact did this closure have?
8. a. what is tactical voting?

b. What three factors might explain the causes and the growth of tactical voting?
-

-

-

9. What exactly did Labour do to change its face and become a catch-all party?
10. Briefly explore how the minor parties did? Anything significant?
11. Briefly examine the implications of this election on:

a. Age-
b. Gender-
c. Ethnicity-
12. What were the three chief issues facing the new Parliament?
13. a. What does the British Representation Study assess?
b. Examine each of the three key findings from the British Representation study of 1997.

-

-

-

14. What is the winner’s bonus and why does it occur?

15. In sum, though most psepologists predicted a Conservative defeat, the extent of the defeat was surprising. Cite several factors that comprise the anatomy of the Labour victory.

